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&?‘t One: Reading comprehension

* Directions: Read the following passages carefully. Each passage is followed by some questions.
Complete the questions with the most suitable words or phrases (a, b, ¢, or d) below each one. Base
your answers on the information given only.

Passage 1

Researchers at Saarland University in Germany have demonstrated that a small device
emitting a relatively cool beam of purple plasma ean climinate oral bacteria in -eavities,
leaving more tooth structure intact than a drill does.

“I think plasma will provide additional advantages, namely by not drilling into or
removing dentin so deeply,” said Stefan Rupf, the lead author of a study on the work
published in JMM, 2010.

As bacteria in our mouths feed on sugars, they produce an acid that eats into dentin,
eventually boring cavities which can cause a great deal of pain, and if left untreated can
lead to scrious infections and even death. v

Rather than relying on a drill's brute force which grinds away the diseased portions of
teeth where the germs have been established prior to putting in a filling to restore the
tooth's shape, dentists seek less invasive ways of wiping out stubborn, tooth-decaying
bacteria.

To test how well these plasma jets sterilize tooth material, Rupf and his team took slices of
dentin from extracted human molars and infected them with bacteria. These samples were
then torched by the plasma jet for six, 12 or 18 seconds, whieh completely disinfected the
dentin of one common decay-causing germ.

Rupf said he and his team are not sure exactly how the plasma jet kills the bacteria.

When moving the plasma jet, the temperature of the dentin increased only to between 102
and 110 degrees Fahrenheit —but not hot enough to kill microbes or harm tissue, said Rupf.

121 . Larger portions of the dentine tissue are removed when ........ .
a. using plasma jets
b. drilling into dentin
c. feeding on sugar
d. leaving tooth structures intact

122 . The direct cause of tooth caries is usually ........
a. sweets b. an acid c. boring cavities d. serious infection

123. Tooth caries, if not treated, may sometimes .......... .
a. kill the person
b. heal themselves
c. destroy bacteria
d. be tooth repairing

124 . When possible, dentists are said to advoeate the ......... ., '
a. tooth storage b. dentine removal c. drill’s brute force d. fewest interventions

125. To get the decayed tooth back to its normal shape, the dentist .........
a. putsina filling
b. generates plasma jets
¢. drills cavities in the tooth
d. infects dentin with bacteria
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A good title for the passage is .....
a. Advantages and Disadvantages of Dental Drilling
b. Plasma Jets Could Replace Dental Drills
c. How to Destroy Tooth Infections
d. The Cause of Tooth Caries

Passage 2

Allergies are an overreaction of the body's natural defemse system that helps fight
infections. The immune system normally protects the body from viruses and bacteria by
producing antibodies to fight them. In an allergic reaction, the immune system starts
fighting substances that are usually harmless (such as dust mites, pollen, or a medicine) as
though these substances were trying to attack the body. This overreaction can cause a rash,
itchy eyes, a runny nose, trouble breathing, nausea, and diarrhea.

An allergic reaction may not occur the first time you are exposed to an allergy-producing
substance (allergen). For example, the first time you are stung by a bee, you may have only
pain and redness from the sting. If you are stung again, you may have hives or trouble
breathing. This is caused by the response of the immune system.

Many people will have some problem with allergies or allergic reactions at some point in
their lives. Allergic reactions can range from mild and annoying to sudden and life-
threatening. An allergic reaction is more serious when severe allergic reaction occurs, when
allergies cause other problems (such as nosebleeds, ear problems, wheezing, or coughing),
or when home treatment doesn’t help.

Allergies are known to ......
a. be the excessive reaction of the body’s defense system
b. significantly contribute to the spread of infection
¢. support the body in case of virus/bacteria attack
d. manufacture antibodies to defend the body

The immune system, in an allergic reaction, ...... .
a. prevents substances such as pollen from attacking the body
b. overreacts against symptoms such as rash, itchy eyes, etc.
¢. produces antibodies to eliminate viruses
d. fights harmless substances by mistake

It is implied that the first time one is exposed to an allergen, the-——-—- .
a. person usually has trouble breathing
b. bee’s string may not be very painful
¢. immune system may not show a strong response
d. skin tumns red and a rash appears

It is understood that certain types of allergies are ......

a. mild such as a runny nose and nausea

b. relieved by home treatment

¢. severe derived from trouble breathing and diarrhea

d. common when elicited by life threatening substances
A severe allergic reaction may ......

a. have fatal consequences for the affected person

b. respond to helpful home remedies

¢. suppress endless wheezing or coughing

d. be limited to reactions like nose bleeding or ear problems
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N2 Most people perceive diabetes as a disease where the patient excretes a lot of sugar, is very

thin and is inordinately thirsty. The fact is many diabetics will not know they have it until a
severe symptom arises although onc can look out for some minor warning symptoms. First,
diabetes tends to be hereditary. Second, people often don't realize that although it often
causes youngsters to lose weight, later on in life may bring about a filling out of the
waistline although on the subject of weight, eating to excess can trigger off diabetes. Third,
in case of a woman who unexpectedly has one or two failed pregnancies, it will need to be
investigated right away. Similarly, one who delivers a really large offspring needs to
consider this possibility. Fourth, the diagnosis can arise when a patient goes for a life
insurance medical examination and is rejected when they believed he/she was fit and
healthy. Finally, a skin condition associated with diabetes is when there is infuriating
itching - generally at night - after a visit to the hathroom. As regards prognosis, before
insulin, a diabetic 10-year-old only had a life expectancy of less than two years — this
expectancy is now about 45 ycars.

132. According to the text, one factor that may cause diabetes to initiate is ........ .
a. itching b. overeating c. inordinatc thirst d. failed pregnancies
133 . We can infer from the information in the text thata ....... should be assessed for diabetes.
a. a woman who has delivered two abnormal babies
b. mother who delivers a baby heavier than usual
¢. mother with no apparent symptoms
d. person registering for life insurance
134 . At different stages of life, the diabetic may be different in terms of ....
' a. severe symptoms
b. warning skin issues
c. future benefits
d. size change
135. The text implies that if you have no diabetic parent, sister or brother, you ....
a. are very likely to get diabetes
b. should wait until a scvere symptom arises
¢. will never develop the discase in the future
d. still had better attend to warning symptoms
Passage 4

Breathing problems during sleep may be linked to carly mental decline and Alzheimer's
disease, a new study suggests. But treating apnea with a Continuous Positive Airway
Pressure (C.P.A.P.) machine can significantly delay the onset of cognitive problems. In a
group of 2470 people, average age 73, researchers gathered information on the
incidencce of sleep apnea, a breathing disorder marked by intcrrupted breathing and
snoring, and the incidence of mild cognitive impairment and Alzheimer's discase. After
adjusting for a range of variables, they found that people with disordered breathing
during sleep became cognitively impaired an average of about 10 years sooner than
those without the disorder. But compared with those whose slcep disorder was
untreated, those using C.P.A.P. machines delayed the appearance of cognitive
impairment by an average of 10 years making their age of onset almost identical to those
who had no sleep disorder at all. The lead author, Dr. Ricardo S. Osorio, a rescarch
professor of psychiatry at NYU Medical Center, said the analysis is an observational
study that does not prove cause and cffect. “But,” he added, “we need to increase the
awareness that sleep disorders can increase the risk for memory impairment and
possibly for Alzheimer's. Whether treating sleep disorders truly slows the decline is still
not known, but there is some evidence that it might.”
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13@. The results of the study are ..... .
) a. supported by an extensive clinical trial

b. in favor of using sleeplessness
c. obtained from a cause and effect study
d. obtained from an observational study

The underlined word disorder (line 8) refers to ....
a. apnea
b. memory loss
c. Alzheimer’s disease
d. cognitive impairment.

The maip idea of the passage is the possibility of .........
a. treating sleep disorders by C.P.A P,
b. curing Alzheimer’s by delaying memory
c. delaying memory decline by treating sleep apnea
d. treating cognitive problems by treating sleeping problems

According to the passage, there is a cause and effect relationship between ......
a. Alzheimer's age of onset and the use of C.P.AP.
b. lack of sleep and onset of Alzheimer’s
c. lack of sleep and C.P.A.P.
d. sleep apnea and cognitive impairment

Aecording to the passage, memory impairment in those suffering from ....... healthy people.
a. untreated apnea occurred 10 years sooner than
b. apnea treated by C.P.A.P occurred 10 years later than
c. apneatreated by C.P.A.P and Alzheimer's occurred similarly to
d. untreated apnea and Alzheimer's occurred 10 years later than

Part two: vocabulary
Directions: Complete the following sentences by ehoosing the best answer.

141 . An 18-year-old girl referred to the elinic to ...... her pregnancy. )
a. adopt b. terminate c. deliver d. labor
142 . Educated people should do their best to improve adult ..... ; that is, they help many people to be
able to read and write.
a. privagy b. controversy c. advocacy d. literacy
143 . No one in our department is satisfied with the new rules; I have received lots of ......
a. praises b. encouragement c. approvals d. complaints
144 . Many faetors, such as unhealthy diet, chemical pollutants and stress can ------—- lung cancer.
a. compete with b. recover c. account for d. alleviate
145 . Scientists conceptualized stressors as exposures to ....... environmental stimuli, like extreme
temperatures, electric shocks, or food deprivation.
a. favorable b. invigorating C. nOXious d. wholesome
146 . The sun’s rays ...... positive biological reactions, one of which is the synthesis of vitamin D.
a. trigger b. dissolve c. tackle d. donate ”
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147 . ?rial ceremonies in which mourners have direct contact with the body of the ...... person can
\ 7lso play a role in the transmission of Ebola.

a. impaired b. isolated ¢. evacuated d. deceased
Although a great deal is known about the early phase of the interview, less is known about
information ..... and therapeutic strategies.

a. exchange b. discharge ¢. competence d. preference

The experiment was carried out in two ..... or separate stages.
a. eligible b. identical c. discrete d. substantial

The question of how life was ..... on our earth has not been answered yet.
a. rejected b. suspected c. initiated d. terminated

A medication that does not require a prescription is an ..... drug.

a. over-extended b. over-the-counter ¢. over-prescribed | d. over-developed
It seems that people who have experienced a stressful situation before can ....... it better if
repeated.

a. duplicate b. conceal c. handle d. depreciate
The patient’s action could be considered suicidal because he had taken the toxin ........

a. reluctantly b. compulsorily c. deliberately d. symbolically

Getting six to eight hours of sleep every day probably ..... the risk for cardiovascular disease
over the long term .
a. suffers b. confers ¢. diminishes d. repairs

Successful plastic surgery can lead to an increase in self-......... and confidence.
a. esteem b. deception ¢. indulgenece d. denial

If you arc planning to have surgery, your biggest ...... should be the final outcome.
a. comfort b. concern C. recovery d. relapse

Topical pain relievers, such as creams, lotions or sprays, are applied to the skin in order to
relieve pain and inflammation from ...... musecles and arthritis,
a. sound b, sore c. robust d. fake

The study was conductedto ..... the frameworks of the UK health system.

a. explode b. set off c. lay off d. explore
To ensure a sound basis for making decisions and steering health systems, all ....... should have a
voice.

a. outpatients b. participants ¢. clients d. outsiders

He was appointed to be responsible for the .... of the negotiation bctween the two health
organizations.
a. detachment b. detainment ¢. contention d. commeneement
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